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ICUMOE PARK HIGH SCHOOL

_-“Maths Teacher:
- Grade 11 Maths Exam Paper 2 12 June 2014
- Marks: 100 Time: 2 hours .. .- .. -Examiner: Mrs Selkirk
Instructions
i. Woaork clearly and smmm< mﬁm_,ﬂ mmn: ncmm.n_g at .n:m .B_o of & new side of a page..
2. Hand in m:ms_mqm m:n a_zmﬂ_en umum_. mmum.,mnm?
3. Show all s.e«w_nm out. -
4. Non - uﬂom,.mBSm_u_m nm_nc_mﬁoﬁ 3m< um used unless the pcmﬂ_os mnm.nmm ﬂ:mﬂ <oc 3m<
not use one.

5. Round all answers off to 2 decimal u_m.nmm,. whiere fiecessary.

Question 1 (8 marks)

The data below represents the umwn.mmn.mwmm abtained in a Maths test by a w.mBu_m. of 5 Grade 11 learniers.

72 s0 80 35 wmn N mw....pm  ”.wo 78

mmﬁomamﬂ . . o @)

1.1 Find the five number mSJ_de moq i
1.2 Use the five number wcaaméﬂo m_ﬁé a wox msq s\:_m_aﬂ n__mmqmn._ mul:_m n_m.nm

1.3 ° Ffindthe _nﬁm«ncm&_m _.m:mm _“o_. M_em mm» Qn nmﬂm. .

Question 2 ﬁ_._u Bm_‘x&

The following data represents the macc:ﬁ om time :_._ :oc«& ,m:m.n & mmz._u_m ojmm;ma mmmm vmﬂzmm: 14
and 18 years of age, spent watching ﬁm_msmwo: ncasm z_m:. 3 Emmw :o_am< in E_< -

C4R2 Use me .&mmﬁmﬁ 1o m<m_cmﬂm

Time thours)

Z__n_uo_sﬂ cn. X
0<t=20 : R :

20<t <40

40 <t <60

60 <t x 80

80 <t <100

21 Whatis the modal class? I T N )

2.2 Complete the tahle, a copy of which is on Diagram Sheet A T {2)

3 Usethe table to calculate the approximate mean for this set ofdata: 5 70w 5 o (3)

2.4 What percentage of the learners watthed more than 60 hours of television during the holiday?

(2)
2.5 In which intervat will the 65" percentile be found? {2) [10]
Question 3 ((3 marks}
The following terms reprasent 5 different data values.
C 2% x+3 x—1  2x=3 . .x+5

Tha mean for the data set is 12. Determine the value of =, N
Question 4 {26 marks)
4.1 A=20°and B= 30°, determine the vaiue of the following to 3 decimal places:

411 o3 (A+B] .- - SRR R ¥ Y

a..\ru m:._my + nom.m?... Ca | o R R 1
4.2 If & tand — 15 = D and 190° < § < 360°, determine the value of si'6 by cﬂ:.m 3'diagram and

wlthout using a calcutator. o (4)
4.3 - ifcos15° = ¢, use a diagram to determine cos 75° .. ) 3)

441" Sketch the special diagram used to evaluate trigonometric B.mmm ..sﬂ wou 2#:05 acaleulator. (1}

2910 R .
m_uman + cos 30° without :m_zmm cal :_mﬂo_.._ o s ()

4.5 E_ﬂ:o:ﬂ using a nmmncqmﬂo_.. m:os_ that in.90° =2 sin 45° cos. hmu >:< mvmn_mﬂ m:mmm diagrams
“that were Ema need to be mzos..z. . SR . R

.Pm s ..._sz.wm m_mmﬂﬂ _..wm_os._.nm_u ﬁo DBE = NOu mn Nons mnir. nom:n_ Ule mm

Use the diagram above to catculate the length of
451 8D . : {3)

4.6.2 and hence, the length of DE {2}




47  Sclveforxinthe Ao__.oilm .mnmmm.m_._m m..& € (0; m.od o .. R ” 72 ABand wu m,.,mwm.:mm.:wm._ﬁ mw_.m.n__.n_m. mm_.: A ”.o. _m .ﬁ..m.m mm._#__..w m?r..m mm...n._m.... m_n”.mwoo..
. : TR | o . " : : .

472 Ztanx —3 =cos32° . .. o .. R .@ [25]

Question 5 (6 marks) . ey . . .

471 sin2x = ,w

The angle of elevation fram B 1o the top of am.m.wo._m AD {5 32°, 'Ar bbsefver walks d m from B to C and
finds the angle of elevation of A to be 70° ‘Lat the height of the fiagpole be h meters and the distance
hetween the flagpole and the second point of observation, C, be 5 meters.

51 Express hintermsof d and aratioef 32, (2)°

52 Express ki interms of a Bmo. .w.q.ﬂoo.... R ] L e R
o o 721 Determing the sizé of wm. With reasons 14)

53 Now calcuiate the length'of d? o v ioonani(8) oo o o nig]s :
T : SRR - 7.22  Determine the size of €, with reasons. (2}
723 ...Umdm:.a;m.ﬁ:m sizé %P.En: ammnsm... S

EESEEV . L B RNt FUNE O
ST s 48]

ncaummﬂm the m _o,.z_:m ﬂmﬂmam:ﬁ.

R i
Question 8 (17 marks)
B2
2 n_a_mm intersect atZ ahd W. U and V fie on the mam__m_. n__.n_m X mzm < ¢ on ﬁwm mm«mm« n_&m.
53 ¥ = 101°and ¥ = 82°
6.4 : ! |
angle in the msquﬁm mmmgmsﬁ omﬁsm n__,n P ﬁ:m: ﬁ_._m ne’ _m PR
B, I : . "
Question 7 {13 32._& .

7.1 Given n:n_m.. nmazm o s._z. ﬁmsmmmﬁ AB man >n no:::m *83 _u
the theorem H_,&n m\nmﬁmm wsmﬂ _pw m«a >n s_.__u. um mncmm _m:mﬂ:

ﬁ >o:ﬁ de H_,_m n:n_m, prove -
. E

g1 o umﬂm:s_:m the size a*m:m_mm i, b, cid,2, ws.n: redsons.’ : c(12) ¢
g2 sUVIYK Scné your answer. i3
83 I5UVXY 2 cyclic quadrilateral? Justify your snswer. . - . SO @

A e

| = : @\m




o S G_Dj_,\ura)_ Sheet B mmﬂ.&mﬁl To answers It Q@mn;
. ST 4] ¥

Bueslen 71
@,_.\S.m.ﬁns 3.

destion's (13 marks)

0 is the cerntre of the circle below

: _....m.H If AB = mhcsﬁmaa\vﬂ\ w_._:su amwmnasmiﬁ: ﬂmmmc;m}_._m"m:mnwOm.ﬂ_‘_mqmn__cmo:_._m.n_ﬂn_m. o FRR . S B

192  ProveAAOD = ABOD . - S S a
9.3  Hence, ifABC =7y, deterrminie, with reasons, the size of ADB interms of y T

B L E R N VLY
_ ,_.ogrpooam%

-0




Diagram Sheet A
Question 1.1

2.1 )

Time (hours) . [

Midpoint () | X

0<t=20 |

- J0<t<40

40<t <60

60 <t<80 -

- 80<t<100 —

2.3

24

(2)

2.5

[10]

¢/t



